H & 0l & AHS B Ml A

S=E AN A
SARCALBD
ST AENEFL R 2E] EER=E)
M- B SRASH) - HRAR - B2 of v e HIDE2
=AML 11,978,451 13,037,950 1,059,499
= 400,000
Al 11,578,451
Al 880,000 1,037,950 157,950
== 400,000
Al 480,000
o= AIENE L =X 2 880,000 1,037,950 157,950
< 400,000
Al 480,000
tSal=CAIEHSE 200,000 200,000
401 Al HIZL 201 200,000 200,000
01 Al&H| 198,560 198,560
OA+R A4 28=7
200,000,000 *99. 28% 198,560
03 Al S THYI 1,440 1,440 0
OARE =ZAE 2==7|
200,000,000 0.72% 1,440
ISa+=E |X2c 110,000 267,950 157,950
201 2egh=3| 110,000 110,000 0
01 At2t2lt] 60,000 60,000 0
OLn2aEAlEd E3-Z A 60,000
2 s5=34l 50,000 50,000 0
Oaml=T Al AMEZEHIRXAHI 40,000
OLARSEAE B32= 10,000
A2 =& EFSAIE HSAMSRIE (HEAIY) 570,000 570,000 0
< 400,000
Al 170,000
401 Al HIZL 201 570,000 570,000 0
& 400,000
Al 170,000
01 Al&H| 566,409 566,409 0
OanZ =& =S3HAIE JHEAMS X2
570,000,000 *99.37% 566,409
= 400,000
Al 166,409
03 AlESTHYI 3,591 3,591 0
OARE =5 T=3AIE HEA X
570,000, 0002 +0.63% 3,591
S(=EZAIA) 10,938,451 12,000,000 1,061,549
dA=dES 10,938,451 12,000,000 1,061,549
MY 2d8E 10,938,451 12,000,000 21,061,549
701 JIEtI HSHES 10,938,451 12,000,000 1,061,549
03 BVIHEEIIAN=2HES 10,938,451 12,000,000 1,061,549
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